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Algebra II

2
The larger root of dx + x - 3 = 0 1is
a) -l d) 3/4
b) -3/4 e) 1
¢) -1/4
2 2 2

The curves x + y = 25 and x + y = 19 intersect 1in how many
points?
a) 0 d) 3
b) 1 e) 4
<) 2
If 2x + 3y -~ 2z = 0

¥ + 2y + 3z = -3

2x + y - 4z = 1, then ¥ +y - z = 7
a’ -2 d? 1
b) -1 e) 2
c? 0

A plece of wire 100 inches long 1is cut Into two pieces, and
then each piece is bent inte the shape of a square. If the
sum of the enclosed areas is 397 sqgq. in., find the length of
the ghorter piece of wire.

al 16 d) 40
b) 24 e) 48
c) 32
2 2
The center of the clrcle 4x + 4y + B8x - 8y + 7 = 0 is
a) (1, 1) d) (-1, 1)
h) (-1, -1} 2) (4, 8)

C) (lr "l)
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A water tank can be emptiled by using one pump for & hours. A
second, smaller pump can empty the tank.in 8 hours. If the
larger pump 1s started at 1:00 p.m., at what time should the
smaller pump be started so that the tank will be emptied at
5:00 p.m.%?

al 1:36 p.n. d? 4:00 p.m.
b 3:30 p.m. el 4:10 p.m.
¢ 3:24 p.m.

Let w vary jointly as u and v and inversely as x. What
happens to w if u i3 doubled, v tripled, and x doubled?

a) W i3 halved d) w 13 quadrupled
b) w 1s doubled @) w remains the same
c) w is tripled
tan x 1
, =
se¢ X tan X
2
al cos5 X d) -1
2 2
b csc X a) sin x
c) 1
2
The solutions of x - 3x + 1 ) 29 are
a) -4 {x {7 d) x { -4 or x ) 7
b) x £ ~4orx2 7 e) x { -2 or x> 14
c) 4+ { x § ~7
2 2
The graprh of the egquation 25y - 9x - 100y - S4x + 10 = 0 is
al a line d) an ellipse
b) a parabola &) a hyperbola
ol a circle
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If 8 = 60 , then sin & + csc @ =
4 +Y 3
a) 3 '3 d)
2
7V3
b) —_— e) L
6
¢y 5/2
2+ 31
Write this complex number -——— 1in standard form.
2 - 31
. =5 + 121 13 + 121
a) e d) e
13 -5
~5 -5
b — e) —— 4 121
13 13
13 + 121
c) ——————
13

An automobile radiator containsg 16 quarts of a 20% solution
of antifreeze. How much of the original must be drawn off
and replaced by pure antifreeze to make a 25% antifreeze?

a) 0,2 quarts d? 8 quarts
b 0.8 quarts @) 1.5 guarts
g 1 gquart
This svstem of equations 6x - 3y = 9
4% - 2y = =10 has

al one solution d) an infinite nunber of

solutions
b two golutions

e) three gsolutions

C} ne solution

If 4 coins are tossed in the air. what is the probability
that at least one will turn up heads?

al 1/16 d) 1/2
by  1/4 @) 15/16
o 3/4
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X + 4 1 -3x

If 3 = 2 , Lhen x =
1 - 1n B1 d) no real solution
a) e e
L + 1n 8 In 2 + 1n 81
e}
in 2 - 1n 81 ln 24
b)
ln 24
1iog 2 - log 81
24 24
ol
2

The solutions to the inequality |2x + 4| »8 are

a) -6 ) x> 2 d) % £ -6
b) X 2?2 2 o0or x £ -6 a) x Y 6 or x { -6
<) x ) 2
3 26
The fourth term in the expansion of (2x - y Y 1is
9 6 9 6
a’ ~20x vy d) -160x ¥y
9 6 6 5
b} 160x y el ~-160x v
9 6
c) -120x v
If log (x + 1) = 2 + log (3x - 2), x =
4 4
a) 33747 -1 + 1 217
d) s
-1 + Y217 6
b
© e 9/11
-1 ~ Y217
<
6
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Algebra II1

How many three-digit numbers can be formed from the digits
2. 4, 6, B, 9 if repetitions are not allowed?

al 30 d) 125
b) 60 e) 160
<) 120

2 fix + hy - f{x)
If f(x) = 2x + 4x ~ 3 then - is
al 4x - 2h - 4 d) 4x + 2h - 4
b) 4x + 2h + 4 | el 4x - h - 4
<) 4x -~ 2h + 4

2

The sum of the roots of ¥ + 9x -~ 22 = 0 13
a)l -13 ) 9
D) 13 e) 0
¢y -9

The slope of the straight line parallel to 3x - 2y = 1 at the
point (1/2. 0) is

a) 2/3 d) 3/2
b) -2/3 2) no slope
1 ~3/72
3 2
2eie§mine k¥ 8o that f(x) = x + kx -~ kx + 10 i3 divisible by
a) 3/10 d) 17/12
b) 9/16 e) 1574
c) 11/8
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The araphs of y = 1oq24x and vy = BX/Z intersect at the point
a) (4, 9) d? (2, 3
b (2, 4 e) (4, 4)
ol (4, 3)
3 2

Find all roots of P(x) = x - 2% + 4x - 8
al x =2, 2. 2 d) x = =2, + 21
b} X = 2, 2, -2 Q) x = 2, -2, 21
C x = 2, + 21

3 P

The graph of P(x) = ¥ + ax + bx + ¢ intersects the x-axis
at x = -2 and ¥ = 1 and the y-axils at v = 0. Find P(12).

al 1848 d) 1232
b) 1428 el 1056
c) 2346
Evaluate. 1 -2 31

3 -1 4

2 1 0
a) 3 d) -35
b) -5 e) 5
ci -3

If five black. three red. two white., and two green discs are
to be arranged in a row, find the number of possible color
arrangements for the discs.

a) 233,160 d) 149,760
b) 151,200 @) 216,280
<) 166,320
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Given A(3, ~1) and B(-2., &), the equation of the
perpendicular bisector of line segqment AB i3
a) T + Sy - 15 = 0 d) 7x - 5y + 15 = 0
b 5k - 7y - 15 = 0 el 5x -~ 7y + 15 = 0
<) 7x + Sy + 1% = 0
6
3 - UB - X
3+§3 - x 18 +Y3 - x
al e d) -
1l + x 1 + x
18 +6V3 -~ x 4Y¥¥3 - x
by e)
6 + x 1 +x
3+ 6\(5“?"57
c)
1 + x
If g(xy i3 a real valued function., the domain of
td + %
g(}{):f::"_s
1l - x
A ¥ f 1 d) X {"¢
b X =4 ay ¥ § 4 and x ¢ 1
o) x 2 -4 and x ¥ 1
5 3
How many imaginary roots does 3x + 4x + 2x - 5 = 0 have?
al 0 ad) 3
b1 1 e) 4
Q) 2

If the fourth term of an arithmetic
ninth term is 20, the sixth term is

al g d)
b) 11 e)
o) 13

sequence 13 5 and the

15

17
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- 10x - 4 1is

d)

dy

a)

(ax ~ bhi{cx + d) where

~
~7

-2
2

-

o}

log - =
a 2

1,585

1.347

then b
dl 2]
&) 11

2
If f(x) = x =~ 6x + 5, then ff}(Zﬂ =
a) -3
b) 18
<) 14
2 2
The equation ¥ + y - 4x + 6y =
radius
a) l
b 2
< 3
2

The minimum value of f{x) = -8x
al -1
s}, 0
o) 1
If log 3 = 0.4771 and log Z = 0.3010,

a a
a) 0,7781
b 0.1761
) 0.1%05

2
If Séx + llx - 15 is factored as
a, b, ¢, d are positive integers.
a) 3
b) 5
c:) 7

?
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If matrix A

then A x B
a B x A
BE;

b
13
[ 7

c)
-1

~14

Algebra II

1 3
-1 3
and matrix B = 2 -4
4 -1
-1 1
-3 13
d)
10 ~-14
e) does not exist

10






